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Ifx=7y−z
2.Findxwheny=4andz=−2.
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Find the value of p−2q when p=10 and q=20

Whatisthevalueoft
3−twhent=2?
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Calculate y=2(x 2−1) when x=8
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=
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3
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L=
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2 +n

2

Fin
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en
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nd
n=

8
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W
ha
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g
=

5
an
d
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=
−
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K=
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c
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en
a=
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nd
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L=
2x3

Fin
d L
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en
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L=xy−zFind L when x=−4, y=2 and z=3
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8
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Fin
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=
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lta

ge
in
a
ci
rc
ui
t
is
gi
ve
n
by

V
=
IR
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n
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Whenx=15andy=−6.Find
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y
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A=
pq−

r

Fin
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wh
en

p=
2, q
=−

2 a
nd

r =
3

G
=

4t−
1

F
ind
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value
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G
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F= mv 2

r . Find F when m=80,v=6 and r=20 P
=
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.
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in
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=
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5
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=

2
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Fin
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4
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w
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in
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5
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=
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−30
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G
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v=
u+

at.
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ind

v
w
hen

u=
3,

a=
10

and
t=

5.

1

T=
a
b

FindTwhena=18andb=2
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